A factory 1s producing papers. The quality control unit applies two types
of testing (durability test and strength test) to assess paper quality. The

data for the same 1s given below:

Table II1
S. No. 1 2 4 5 6 7 8
Durability | 7 6 6 3 1 4 3
[Strength | 7 | 4 5 1 | & 3 5
JQuality | Good a@ Good |Good ) Bad | Bad |Bad| Bad)

In general, the factory produces

Use k-nearest neighbor (KNN) with k = 1 and 3 to predlct the quahty
of a new paper (durability = 5, strength = 5)

ot dudafoirt ¢

[2+1] [CO3] [L3]

Noswe  Bayeo Cﬂaw'{ls‘w;

mez/w\sd/
evnditorsl  Preboby L-Z-\-7-.
P(A ]B) -

P(Aae)

o )

O | 5 | iabets | Demace Rer | k=3

7 / E: 4 \[@s’)"e('rs)T - 28 B

6 4 2 Je- ) ?*s I2 v B

K4 & | @ J& tvs)”

6 s |4 (G0~ 9> & va | vq

2| 4 & {EsTus)> = 4%

1 4 e =

4 2 B <

2 S 1) = v B
Goed- Bad-



p(rae) = P(AIE)- ()

p(&]a—') = P(ae)
S
PCA)

P(ennd= e(e)a). p(p)

P(ﬁ\p,)-: e(mag) . o(ena) _ PCelA)- P(AY_
iy Pe) P(87)

| P(A]@: P(e)a) - PCAD
P(e)

=

2R ’ I \ 2R
24 ©Ce 2¢
|

A — B C

B: Prob R gurig a v bat g et A bow &
thasem

PCR\A) :_g_

Q- Pﬂfb-t;F 3&*”3 o ned bole P

>

Ple)= PlRae) + Pleng) + WROL)



Q: Prob +eat b‘gﬁ-':ou\szs‘—n 9;\,.,,,46@2‘9«(%0&.

S Ayaesn

P(alR)

\L!

p(Aaed

PCe)

o

P(R\A): PIA)
PCR)

:Hi P(A) 7,3

PR + Pleng) + WROL)

Nodve Baver  Uossfer (ftatinod)
' : CrvdanaL
(_% Pror Prb-
(A\e»') = A pad) = (P(elA @
P(B)
P:s\mcr
onmlwh‘?d
tount -
YW S YY) M Ny
Deodegs ( y
(o - L 2

Péd': L}%) —> 03X

P(t’l-‘-ﬁ«l""') — oIS e o ol

Ay=2l») — o6




bt susvrd be ¢

PAD)= P(BIM™AN)
o)

A &
Plyzs) ) = PLrly=+)" Wy=1)
P

= Plaly=2)"* Ply=1)
P(2ny=9) » Plangead + Plxa yed)

P(Uotl'la = P("L[:jcj.)f" P(y=t)

?Q‘Lla’—.‘-)-ﬂg';;> + P(mllcn.‘)’?(y’-a) <+ P(dl:fﬁ)nq'dcé

?(mla:&)-ﬂgc.t) + P(m.{:‘cp.‘)/\‘?ojc;) + P(’*'ﬂ’-ﬁ"(:cé

P(Ur:—?,l'l) = PC"’L[:j’: 3') o P(g‘-‘&)

Pcrx,ln’—i-')-ﬁvrj-> + P(ml:‘ca.')'?Cycz) + P(rxljc:é).t?(dc%

Plg=e]=) = p(miy=1 . 0y £
Densm)

P(‘J‘- 7—‘ *) - P (o y=2). /Yy :2) N
Deme)

Ply=g D = P(Mg=3) - °(y=3D




P(‘d‘-‘-i-"l.) [ @ PC"‘-\fj':">‘P(:j’3‘>
py=2)n) K P(A(y=2) WY=2)

(y=3zn) K (el y=3) . AGED)

PEg=0 - Plulges) - P (=) 2o y=1D

e o el ol foant”

vy
PL‘*‘:jT-J—) = 7N P(m;\g—.—i)
'l:\

4 =j.fz.> w ol s . _

Py=c|) . "7'% i) y=O) -+ A=

gm{bfx‘w Covd 2 Sk ooy

'\"vbcbﬁf? thﬁ7

ot eivers2l

C e {‘, 1.,33



L T SV 7% L -
Day Outlook | Temp | Humidity | Wind m
D1 Sunny Hot High Weak No
D2 Sunny Hot High Strong No
D3 Overcast | Hot High Weak Yes
D4 Rain Mild High Weak Yes
D5 Rain Cool | Normal Weak Yes
D6 Rain Cool Normal Strong No
D7 Overcast | Cool Normal Strong Yes
D8 Sunny Mild High Weak No
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